Example Problem 4-8 from 2nd Edition

POLYMATH 5.0 Results
Equilibrium Conversion of Oxygen  in N2+O2->2NO 20 atm 2700K 02-04-2001
NLE Solution 
 Variable      Value       f(x)       Ini Guess
 X           0.1060004   -1.744E-08    0.02     
 NT0         0.0361104
 NO20        0.0054166
 NN20        0.027805 
 V           4.0E-04  
 NO2         0.0048424
 CO2         12.106021
 NNO         0.0011483
 NN2         0.0272309
 CN2         68.077207
 K           0.01     
 CNO         2.870791 
 Cto         90.276107
NLE Report (safenewt)
 Nonlinear equations as entered by the user
 [1] f(X) = K*(CO2*CN2)-CNO^2 = 0

 Explicit equations as entered by the user
 [1] NT0 = 0.4*20*1.01325e5/1000/8.314/2700

 [2] NO20 = 0.15*NT0

 [3] NN20 = 0.77*NT0

 [4] V = 0.4/1000

 [5] NO2 = NO20-NO20*X

 [6] CO2 = NO2/V

 [7] NNO = NO20*X*2

 [8] NN2 = NN20-NO20*X

 [9] CN2 = NN2/V

 [10] K = 0.01

 [11] CNO = NNO/V

 [12] Cto = NT0/V

 Comments
 [1] f(X) = K*(CO2*CN2)-CNO^2

     X is defined as conversion of O2 
 [12] V = 0.4/1000

      volume in m^3 
 Settings 
 Max iterations 
= 150

 Tolerance F 
= 0.0000001

 Tolerance X
= 0.0000001

 Tolerance min
= 0.0000001

 General
 Search range:   .03 > X >  .01

 number of implicit equations: 1

 number of explicit equations: 12

 Data file: C:\ACDRIVE\Courses 14 june 2000\Reaction Engineering\Lectures\equilibrium conv_part2original.pol

